EARAROBEEIERT — 2 N— IBISH —F

2019527168 (£) 1EFRZE7H

R Xl

REEFI

[($57E] Fikb

‘ [R1%] & ‘ [REBB] — | & (£) 16000 B

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
; S 3 | AFHEIR 1:39.6 3-3 37.2| 87.0 | 3 476 | HiFA=— (EH)
1|12 F-ETL—4 56.0 o) o |tR—
R:ZyY—>b—A— B:E1T7IILFK HET7— L
4 3 | EORE 1:39.9 6-6 37.3| 84.3 | 6 484 | RLERE (i)
20111 7124202 56.0 (1 3/4) (44) | BERE
:a2— bR BEXAYFIZRT 9T (B) #HAEIA-FKL—Ya>AET7
N A S 43 | AAREF 1:40.1 1-1 38.1| 80.8 | 10 438 | BUFEER (EH)
P A 92: v 56.0 (1 1/4) +2) SZILFRATF
LRI T—MWZTT—h B:IHFX/VILF RSt -7 X
= . i 3 | Bl :40.1 5-5 37.6 | 82.4 | 1 448 | BEAFIN ()
YIIN—Tz> 56.0 (NF) 4e) | ) E<BIT—2
LTANNGTFY— B:HI53-)3— ke
< R AR LE7B :40. - . . BERE (EH)
FIaUA "SR iy S Rl R (i?g) TEmo
R4 LINS Ry 7R B:I—Y>FrOx— FAERS
-2 # 3 | ARG 1:40.8 10-10 [ 37.7| 76.1 | 9 474 | BHAIE (EH)
P Bk ¥¢55.0 (3/4) (o) | ELEAT
LA agR—5— B4 942940 RS
A # 3 | F. 3FUT 1:40.9 6-6 38.3| 74.2 | 2 530 | MOREAESA (3Eid)
715l9 | BT 77Uy KXY 56.0 (7€) e | K- S ¥u7
L:O—FpFO7 BETHIEA UK J—HrTr—L
— . 4 3 | E. JAXTFN 1:40. 8-8 38.1| 75.1 | 4 496 | FIEHEEZ (i)
8|5[10| L=71~> 56.0 (76) (o) | EEBE
R:¥>inq40O— BLVLZT J=HTy—LI
N o3 | AlIEREA 1:41 .1 10-10 38.0| 73.5 | 5 534 | HRIRER (ZEiH)
9 3| FFVZ 56.0 (' 1/4) -2 | FAET
Loxq4o B:Fr3a—F1-b =iie)
Sy N # 3 | EPR 1:41.6 8-8 38.8| 67.4 | 1 530 | AREEL (E#)
10 8 E—E—-/NK)y T 56.0 3) (+6) (B) WEHS
LT RIA VY L—> B:4=H b Lie )
-2 : _ B3 | ENEAFE 1:41.8 3-3 39.4| 66.0 | 7 46 | LRIEZ (EH)
111 8]15| =~/ RT7H—~1) 54.0 (3/4) (+1a) | BT
/TN B2/ F—=Xa-) E Rk
s £ 3 | HRIER 1:43.1 12-12 | 39.6| 55.4 | 12 | 456 |BEFME— (%)
12| 7|13 A b=3=F 1 b L ® o) |HIEEA
R:T—GTH—R B:RFTL—> FolEF X Ty — L
: N _» o3 | Sl 1:43.4 15-15 | 38.9| 54.3 | 16 | 500 |/\ifR3A ()
13816 P2/ ¥V 71— 5.0 (1 3/4) (-4) $hoAA
R:TF4=7TVI 7 B:Ov Y7177« BN ES
V= 5 4 3 | BRIt 1:43.4 13-13 | 39.5| 53.0 | 15 | 474 |fREEf— (@)
14714 F>T LAY .0 (75%) o) |BRES
L:70F—v BN F—Ta NIENTT— L
S NN 4 3 | BEHA 1:43.7 13-14 | 39.4| 51.3 | 14 | 474 |KFHERE (XiH)
15 5777 FLyErX 56.0 @ -6) | A InT7—L
R:bhwHoO-U— B:AT1T78F INTp—L
v 5 4 3 | LHES 1:44.8 15-15 40.3| 42.8 | 13 482 | BAE (EH)
16 6 /\'7_/)—_'L\ 56.0 (7) (=) e —
LY IRG4 52 B:O—-J—XAYX8— LA Eae ]
@ 71 L
) 50.6-37.6
NA> 24 L | 12.3-11.5-12.4-12.8-13.0-12.4-12.3-12.9
® I —F—@EBIERL
1T=7r=
230—7F—
Gal=7r= 11,12(2,15)4(1,9) (8,10) (3,7)13-(14,5) (16,6)
40—F— 11,12(2,15)4(1,9) (8,10) (3,7)-13-14-5(16,6)
[ N3
BB 2 590M 714K 1-2 860M e E 1-1 2,150H JEHE 1-2-11 32,040
8 B 2 250M 2-11 3,550 B = 1-2 2,080M B 2-1-11 106,910
1 240 1-11 3,910M| | B H 2-1 3,810
1 770H

ABICOVWTRDTEEERROODE. TR LIV,




